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 16. Dark lines in an absorption spectrum occur because

A photons move from higher to lower energy levels emitting electrons

B photons move from lower to higher energy levels by absorbing electrons

C electrons move from lower to higher energy levels emitting photons

D electrons move from higher to lower energy levels emitting photons

E electrons move from lower to higher energy levels by absorbing photons.

 17. A ray of monochromatic light passes from air into diamond.

The frequency of the light in air is 5.09 u 1014 Hz.

The speed of this light in diamond is

A 1.40 u 102 m s�1

B 1.70 u 106 m s�1

C 1.24 u 108 m s�1

D 3.00 u 108 m s�1

E 7.26 u 108 m s�1.

 18. A circuit is set up as shown.
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The power supply has negligible internal resistance.

The potential difference across the 60 ȍ resistor is

A 1.0 V

B 2.0 V

C 5.5 V

D 6.5 V

E  10 V.
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